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A F64E8 H A H BI{E
HT HK A0 (58) A (40) An GH
H #HT 480 393 387 780
AT 1,765 1, 661 1,797 3,458
JHET 967 893 827 1,720
== 1T 1,277 982 1, 066 2,048
FFHT 1,970 1,828 1,882 3,710
JTHT 1, 699 1,710 1, 859 3, 569
i 862 935 977 1,912
A AET 621 509 564 1,073
At ZEHT 900 856 878 1,734
BT 676 604 629 1,233
HAET1 T H 893 855 851 1,706
HARET2 TH 799 779 762 1,541
PEFTIR 1 T H 2,194 1,811 1,951 3,762
VEETIR 2 T H 979 873 917 1,790
FRET 1T H 1,606 1,315 1,651 2, 966
T2 TH 1,246 930 1,108 2,038
kAT 3 T H 1, 452 1,416 1,553 2, 969
T4 TH 2,893 2,630 2,873 5, 503
SRHET 947 894 949 1,843
FRAEHT 1,198 1, 140 1,233 2,373
EFIT1 TH 514 446 488 934
EJFET2 TH 777 825 779 1,604
KT 3 T H 728 714 698 1,412
EJFIT4 TH 295 227 224 451
EJFET5 TH 500 469 520 989
AL P IR BT 1,110 1,118 1,072 2,190
[ B AT 1,589 1,619 1,753 3,372
FiEs 1,216 1,236 1,293 2,529
E1TH 423 451 491 942
tE 2 TH 650 740 766 1,506
tE3TH 461 518 514 1,032
EE4 T H 406 508 491 999
FAZENT 1,428 1, 059 1,090 2,149
L) 716 685 732 1,417
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S F64E8 A K HHIU/E
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,019 800 999 1,799
ERNET 997 1,117 1,106 2,223
KETHH 169 94 156 250
[icg gzl 873 910 858 1,768
HOHTHHT 1,013 1,074 1,059 2,133
KFEHE 1,745 2,003 1,993 3,996
KFFRIL 1,524 1,526 1, 586 3,112
Al - /N 6,232 6, 339 6, 370 12, 709
KT TNLEm 4,971 5,403 5, 382 10, 785
KR EE 4,833 4,572 4, 630 9, 202
WAL 950 793 835 1,628
[EREa 494 402 403 805
S 1,532 1,392 1,469 2,861
EoE1TH 575 559 525 1,084
BEo=2TH 716 645 649 1,294
KFEA K 4,834 4,981 5,077 10, 058
KFEFIE 3,411 3, 600 3,616 7,216
KFA 11,116 11,437 12,012 23, 449
K7 Eilin 1,993 2,022 2,020 4, 042
/INFFRET1 TH 2,619 2,291 2, 680 4,971
/INFFRET2 TH 1, 304 1,236 1,192 2,428
/INFFRET3 TH 2, 435 2,170 2, 452 4, 622
/INFFRET4 TH 1, 620 1,498 1,515 3,013
KEd s 1,071 1,143 1,131 2,274
KFEFE 2, 355 2,519 2,621 5, 140
KFAH A A 731 612 14 1,326
== = 862 985 982 1,967
KFEdsit 79 110 90 200
1 T H 915 968 1,013 1,981
2 TH 990 1,101 1,101 2,202
B3 T H 884 769 893 1, 662
B4 TH 679 684 784 1,468
w5 TH 792 784 856 1,640
KFRZT 315 304 316 620
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BI64E8 H K H BiAE
my 4 A AR (B AR (&) AR GH
KT 204 247 231 478
KPR 803 934 962 1, 896
RF-H HH 140 176 173 349
KFBTH 152 186 166 352
KFHIH 16 20 19 39
KFFE A 462 539 487 1,026
Pl 1 TH 1,061 1,001 1,135 2,136
il E2TH 1,142 1,126 1,183 2,309
=M1 TH 924 977 1,046 2,023
M2 TH 349 316 393 709
3 TH 832 838 884 1,722
A TH 1,184 1,097 1,147 2,244
HRLAr 1 TR 1,647 1, 166 1, 604 3,070
WL F2 TH 1,423 1,537 1, 542 3,079
Bkl 3 TH 782 824 921 1,745
WL F4 T H 380 232 313 545
WL E5 T H 156 146 170 316
WL 6 TH 588 481 568 1,049
Pl 1 TH 1,069 1,091 1,065 2, 156
w2 TH 327 332 365 697
farE1TH 1, 509 1,427 1,398 2,825
My 2TH 699 726 746 1,472
M3 TH 862 830 821 1,651
#1TH 278 347 305 652
H2TH 272 321 327 648
#3TH 1, 401 1, 395 1, 460 2,855
= &1TH 366 425 395 820
= E2TH 187 214 214 428
= &3TH 292 352 340 692
=E4TH 430 481 451 932
—&5TH 678 707 694 1, 401
Heo 360 417 395 812
| 227 273 275 548
WA2TH 962 913 922 1,835
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D648 H K HHIE
i) A A (59) AB (%) UNEGD)
WA3TH 2,037 1,337 1, 469 2, 806
WA4TH 99 73 109 182
WA7TH 332 343 364 707
WA TH 1,534 1,129 1,357 2,486
FREAR1ITH 1,745 1,833 1,879 3,712
FRER2TH 945 994 978 1,972
1 TH 235 249 265 514
2 TH 518 609 648 1,257
It 3TH 1,043 1,113 1,173 2, 286
4 TH 60 77 70 147
e [ B 365 443 404 847
bR T 604 547 623 1,170
AT IR 594 700 725 1,425
WETIR1 T H 1,504 1,479 1,334 2,813
WATIR 2 T H 2,391 2, 626 2,429 5, 055
WRETIR 3 T H 1,541 1, 624 1,441 3,065
WATIR 4 T H 449 516 476 992
WAETIR5 T H 840 778 758 1,536
RPTRFIE 1 T B 1,339 1,447 1,293 2, 740
WATRFIME 2 T H 1,355 1,385 1,302 2, 687
WHTRAIE 3 T H 859 937 857 1,794
<TDEHE1ITH 443 300 371 671
<TDEH2TH 729 666 606 1,272
<TDEHE3ITH 867 710 797 1,507
HER 1T H 152 155 140 295
TER2TH 408 506 494 1, 000
HEm 3 T H 541 600 583 1,183
TER4TH 593 635 636 1,271
MMRE1TH 678 744 767 1,511
MMRE2TH 711 753 824 1,577
INFFRFE1TH 547 590 652 1,242
INFEFRFE 2 TH 546 572 603 1,175
INFIRFE 3 TH 896 1,003 976 1,979
INFEIRFE A4 TH 807 981 946 1,927
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BI64E8 H K H BiAE
i) W A (59) AR (&) AR GH
INFHER 5 T H 560 760 681 1,441
/INFFERG 6 T H 604 587 624 1,211
/INFFEET 5 T H 583 594 583 1,177
WNFRRTET 1 T H 789 787 770 1,557
/WNFfRTET 2 T H 561 611 595 1,206
/NFFRTHT 3 T H 855 1,069 1,068 2,137
JEEFHHET 1 T H 90 102 115 217
LB 2 T H 26 36 21 57
¥ 1 TH 293 324 318 642
¥ 2 TH 156 183 182 365
¥ 3 TH 193 143 199 342
B 1 TH 100 123 119 242
kB2 TH 141 174 172 346
B3 TH 144 170 178 348
EFH1TH 848 828 811 1,639
E#FH2TH 1,272 1,391 1,355 2, 746
EHFIE3ITH 1,423 1,567 1,583 3,150
EHFI4TH 1,356 1,452 1,592 3,044
EHFIESTH 1,720 1,930 1,951 3,881
INEEE 871 948 946 1,894



















